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qlj^=ab=`loofbkqb
jlpqo^al=abpab=sfpq^=ab=mfkbp

mfk abp`ofm`fđk `lilo=abi
`^_ib

N̂ ^iq^slw=abob`el=qo^pbolEHFjlo^al

Ô ^iq^slw=abob`el=colkq^iEHFdofp

P̂ ^iq^slw=fwnrfboal=colkq^iEHF_i^k`l

Q̂ ^iq^slw=fkwnrfboal=qo^pbolEHFsboab

R̂ ^iq^slw=fwnrfboal=qo^pbolEJF sboabLkbdol

Ŝ ^iq^slw=fwnrfboal=colkq^iEJF _i^k`lLkbdol

T̂ ^iq^slw=abob`el=colkq^iEJF dofpLkbdol

Û ^iq^slw=abob`el=qo^pbolEJF jlo^alLkbdol

_N pfk=`lkbufđk s^`ċl

_O pfk=`lkbufđk s^`ċl

_P objlql=^jmEHNOsa`=NMM«^F^wri

_Q pfk=`lkbufđk s^`ċl

_R qfboo^ kbdol

_S pfk=`lkbufđk s^`ċl

_T `lkjrq^al=HNOsa` olgl

_U pfk=`lkbufđk s^`ċl
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